
 

3. ____ C5H9O + ____O2  ____ CO2 + ____ H2O 

 4C5H9O+ 27O2 → 20CO2 + 18H2O  - Combustion Reaction 

4. ____ Pb + ____ H3(PO4)  ____ H2 + ____ Pb3(PO4)2 

 3Pb + 2H3PO4→ 3H2 + Pb3(PO4)2   - Single Displacement 

5. ____ Li3N + ____ NH4(NO3)  ____ LiNO3 + ____ (NH4)3N 

 Li3N + 3NH4NO3→ 3LiNO3 + (NH4)3N  - Double Displacement 

6. ____ HBr + ____ Al(OH)3  ____ H2O ____ AlBr3    

3HBr + Al(OH)3 → 3H2O + AlBr3   -Double Displacement 

 

Post-test: Link will be send to the Google Classroom. 
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